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Example: For the functions f(x) = x + 1 and g(x) = x~ compute:
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The composition of functions means:
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To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
Example: For the functions f(x) = x + 1 and g(x) = x? compute:
gof(x)
The composition of functions means:
gof(x) = g(F(x) = glx +1)
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1

Example: For the functions f(x) = x + 1 and g(x) = x? compute:

gof(x)
The composition of functions means:
gof(x) = g(F(x) = g(x +1) = (x+ 1)

To start, we can replace f(x) = x + 1

The function g is the squaring function, that squares its input

The input of g hereis f(x) =x+1

So, g squares its input f(x) = x +1


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
Example: For the functions f(x) = x + 1 and g(x) = x? compute:

gof(x)
The composition of functions means:

gof(x) = g(f(x)) = glx +1) = (x +1)?
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1
So, g squares its input f(x) = x +1
Conclusion:

gof(x)=(x+1)?


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
2

Example: For the functions f(x) = x + 1 and g(x) = x~ compute:
gof(x)
The composition of functions means:

gof(x) = g(f(x)) =glx+1) = (x +1)?
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1
So, g squares its input f(x) = x +1
Conclusion:

gof(x) = (x +1)2
If we would like, we can multiply this out to get:


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
2

Example: For the functions f(x) = x + 1 and g(x) = x~ compute:
gof(x)
The composition of functions means:

gof(x) = g(f(x)) =glx+1) = (x +1)?
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1
So, g squares its input f(x) = x +1
Conclusion:

gof(x) = (x +1)2
If we would like, we can multiply this out to get:

(x+1)? = (x +1)(x+1)


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
2

Example: For the functions f(x) = x + 1 and g(x) = x~ compute:
gof(x)
The composition of functions means:

gof(x) = g(f(x)) =glx+1) = (x +1)?
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1
So, g squares its input f(x) = x +1
Conclusion:

gof(x) = (x +1)2
If we would like, we can multiply this out to get:

(x+1)? = (x +1)(x+1)

:X2


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
2

Example: For the functions f(x) = x + 1 and g(x) = x~ compute:
gof(x)
The composition of functions means:

gof(x) = g(F(x) = g(x +1) = (x+ 1)
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1
So, g squares its input f(x) = x +1
Conclusion:

gof(x) = (x +1)2
If we would like, we can multiply this out to get:

(x+1)? = (x+1)(x+1)
= x? + x


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
2

Example: For the functions f(x) = x + 1 and g(x) = x~ compute:
gof(x)
The composition of functions means:

gof(x) = g(F(x) = g(x +1) = (x+ 1)
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1
So, g squares its input f(x) = x +1
Conclusion:

gof(x) = (x +1)2
If we would like, we can multiply this out to get:

(x+1)2=(x+1)(x+1)
= x? + x4+ X


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1
2

Example: For the functions f(x) = x + 1 and g(x) = x~ compute:
gof(x)
The composition of functions means:
gof(x) = g(F(x) = g(x +1) = (x+ 1)
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
The input of g hereis f(x) =x+1
So, g squares its input f(x) = x +1
Conclusion:
gof(x) = (x +1)2
If we would like, we can multiply this out to get:
(x +1)? = (x+1)(x+1)
=x24+x+x+1


http://coobermath.com/Inverse_Functions/Combining_Functions/Composition_of_Functions.pdf

Composition of Functions - Example 1

Example: For the functions f(x) = x + 1 and g(x) = x? compute:
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gof(x) = g(F(x) = g(x +1) = (x+ 1)
To start, we can replace f(x) = x + 1
The function g is the squaring function, that squares its input
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